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The girl who ate with
Cathy loved ice cream.
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(1.1) We went to the lake
to swimming.

(1.2) Grandma went to
shopping.
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* Grammaticality judgement

* (-test
* TOEFL (by self-report)



e Grammaticality judgement
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MiET A DFEEX

soRFIFIEB D
Local closure
a3 9 The fact that the dog hurt the boy scared Linda.
Violation of obligatory arguments
b4 9 Mr Kawase, vice president of Tomato Bank, #he will speak to the press
this afternoon.
Violation of subordinate structures
e1 9 [When] Most people hear “endangered species”, they think of animals.
Violation of agentivity
d1 ¥ Diane’s nose got extremely cold, *running home through the snow.

Functional reinforcement

e1 ¥ #For badly wounded, the soldier stopped fighting.



MET A DFEEX

s MBIRIGL
Avoidance of case agreement
f1 9 “CanIsee Harriet?” “I'm sorry *her [is/has] gone to school.”
Avoidance/violation of inflection
g5 1 The policemen [were] surprised that the girls chased the man in the
station.
g8 9 We did not know what to do with *us.
Avoidance/violation of inflection
h2 9 Mr Peters used to think of *hisself as the only president of the company.
Violation of idiosyncratic vocabulary/structure rules
na 9 Carl was upset last night because he had to do too many *homeworks.
n5 9 This is Naomi, *that sells the tickets.



MiET A DFEEX

(a5) The Department of Foreign Languages are not
located in the new building.

ELWEESYEH, COXDPOHASLIEZEATEIY,
1. SFEGEARHEH L WEICIZH D 8 A k.
2. NEGEARIOEDIRHI L 13H D FHA.
3. L OAPHINEEE AR TR H D XA
4. NEREAPIOB L OEPIEZ ZIZiEH ) FHEA.
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5. The Department of Foreign Languages are not located in the new building.
6. The Department of Foreign Languages are not located in the new building.

7. The Department of Foreign Languages are not located in the new building.
8. The Department of Foreign Languages are not located in the new building.
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G The Department of
IHH ad> OAY A Foreign Languages are
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G4 When 1 last saw Janet,
IBH h3 DAY A she hurried to her next

51 v 2 Ela9 class on the other side
of the campus.
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When I last saw Janet, she hurried to
her next class on the other side of

the campus. When the magician
appeared, Bill came
downstairs to see the
magician.

The Department of Foreign Languages
are not located in the new building.



BEEALXRIL 0.0 [cH|TBIEH
ab +h3 g7 OFRME




BEEALXRIL 1.5 [cEITBHIEH
ab +h3 g7 OFRME




2IEHEROIEEHRE (E:R)

SDist = 1/exp(20 X @)



Dimension 2

Dimension 1

3
b3
N 2)
21 =
'y ei gl 2 &2
l bl oo " D a b3
- o o ]
f 2
(e - cl
Ql "~ - Eg‘ hd of ©
() - 18} o v]
& 2 . < al h4
: @ M I "
el v dl 7 g
l - o ‘g] d; »] h‘z gu )
) . ,.
r o

l“ h{? o

.2 N
20 -15 1.0 -5 00 5 1) 15



BHAOHMERE (EF)

LinkScore = {0.15 < ¢ #iir-3wiHn 0% )

+{0.10 < @< 0.15 Ziiz=THEHHO%K } X 0.5
+10.05 < < 0.10 27T HI 0% } X 0.25



Dhmetsion 2

2.0

—Legend

LirkScore
. ==5
B -0
==15
<=2l
-
[P










mMEOFWER 1

[Core Cluster Level 1]

ad Y The Department of Foreign Languages *are nol located in the
new building.

h3 9 When I last saw Janet, she *hurried to her next class on the
other side of the campus.

g7 9 When the magician appeared, Bill came downstairs /o see *1he
magician.



HMEDOSWEH 2

[Core Cluster Level 2]
a6 Y To grow several kinds of flowers *are the joy of gardening.
b4 9 Mr Kawase, vice president of Tomato Bank, #be will speak to

the press this afternoon.



HMlEDOEsWEH 3

[Core Cluster Level 3]

alv Y You will find the glasses with red marks on both sides #are
quiite expensive.

el 9 #For badly wounded, the soldier stopped fighting.

W2 9 Vi Peters used 1o think of *hisself as the only president of the
company.

hd 9 Carl was upset last night because he had 1o do too many
*homeworks.

h6 9 [ watched the match because I knew some of the *playing
*heople.



HlEDOFWER 4

[Core Cluster Level 4]

U2 9 The activity I liked most in the Gardening Club was *planted
many seeds.

96 Y What Lwantis ~ cup, not — glass.

W6 9 His attacker was described [as] a tall man with a beard.

08 9 We did not know what to do with *us.

¢1 9 [When] Most people hear “endangered species’, they think of
animals.

al 9 The letter kept by the old woman who we met when we were
looking for the boy disappeared.
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Local
parsing -2 1.5 -1 -0.5 O O.§ 1 1.5 2

accessible
(mean) 15.76 14.39 12.06 1020 8.11 751 7.08 733 7.83

inaccessible
(mean) 879 8.07 672 660 704 849 9.63 11.62 13.44

t 3373 3285 3.138 2.526 0.896 -0.806 -2.018 -3.336 -4.129

p 0.002 0.003 0.004 0.017 0376 0.426 0.051 0.002 0.000
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DPP = E(Xi - LinkScore, )

(xi = 19 O)
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